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TNPSC GROUP I MAIN – 2023 
 

MENSURATION 2D TEST 
gphpT – m 

SECTION – A 
 
Fwpg;G:  
 

i. xt;nthU tpdhtpw;Fk; 150 nrhw;fSf;F kpfhky; tpilaspf;fTk;.  
Answer not exceeding 150 words each 

ii. xt;nthU tpdhtpw;Fk; gj;J kjpg;ngz;fs;. 
Each question carries ten marks. 

iii. nfhLf;fg;gl;Ls;s Ie;J tpdhf;fspy; vitNaDk; ehd;F tpdhf;fSf;F kl;Lk; 
tpilaspf;fTk;  
Answer any four questions out of five questions. 

(4 × 10 = 40) 
 
1. Answer the following questions  

gpd;tUk; tpdhf;fSf;F tpilasp 
 

A. The lengths of sides of a triangular field are 28 m, 15 m and 41 m. Calculate the area of the 

field. Find the cost of levelling the field at the rate of ₹ 20 per m2.                                     (5m) 
xU Kf;Nfhz tbt taypd; gf;f ePsq;fs; 28 kP> 15 kP kw;Wk; 41 kP vdpy; taypd; 
gug;gsitf; fzf;fpLf. NkYk; taiyr; rkg;gLj;j xU rJu kPl;lUf;F ₹20 nrythFk; 
vdpy;> taiyr; rkg;gLj;j MFk; nkhj;jr; nryitf; fzf;fpLf.     
        
 

B. Find the area of card board wasted if a sector of Maximum possible size is cut out from a 
square card board of size 24 cm. ( = 3.14)                   (5m) 
24 nr.kP ePsKs;s rJu ml;ilapypUe;J xU kpfg;nghpa tl;lf;Nfhzg;gFjp 
ntl;bvLf;fg;gl;lhy; kPjKs;s ml;ilapd; gug;G fhz;f. ( = 3.14) 

 

2. Answer the following questions  
gpd;tUk; tpdhf;fSf;F tpilasp 
A.  One of the diagonals of a rhombus is thrice as the other. If the sum of the length of the 

diagonals is 24 cm, then find the area of the rhombus.                                                          (5m)  
xU rha;rJuj;jpd; %iytpl;l msTfspd; $Ljy; 24 nr.kP. xU  %iytpl;lj;jpd; msT 
kw;nwhU %iytpl;l msitg; Nghy %d;W klq;F vdpy; mjd; gug;gsitf; fhz;f.  

 
B. A circular flower bed is surrounded by a path 4 m wide. The diameter of the flower bed is 

66 m. What is the area of this path?                                                           (5m) 
xU tl;l kyu; gLf;if 4 kP mfyKs;s ghijahy; #og;gl;Ls;sJ. kyu; gLf;ifapd; 
tpl;lk; 66 kP vdpy;> ghijapd; gug;gsT fhz;f. 
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3. Answer the following questions  

gpd;tUk; tpdhf;fSf;F tpilasp 
 

A. A rectangular hall is 12 m long and 6 m broad. Its flooring is to be made of square tiles of 
side 30 cm. How many tiles will fit in the entire hall?                                                         (5m) 
xU nrt;tf miw 12kP ePsKk; 6kP mfyKk; nfhz;lJ. 30 nrd;bkPl;lu; gf;fKs;s rJu 
XLfshy; mjd; jsk; rPuikf;fg;gLfpwJ. KO miwf;Fk; vj;jid XLfs; Njitg;gLk;.  
   
 

B. The area of a trapezium shaped field is 480 m2, the distance between two parallel sides is 15 
m and one of the parallel side is 20 m. Find the other parallel side             (5m) 
ruptf tbt epyj;jpd; gug;gsT 480 kP2> ,uz;L ,iz gf;fq;fSf;F ,ilNa cs;s J}uk; 
15 kP kw;Wk; ,iz gf;fq;fspy; xd;W 20 kP. kw;nwhU ,iz gf;fj;ijf; fhz;f. 

 
4. Magizhini took a wire of length 44 cm and bent it into the shape of a circle. Find the radius of 

that circle. Also find its area. If the same wire is bent into the shape of a square, what will be 
the length of each of its sides? Which figure encloses more area, the circle or the square?   (10m) 
kfpopdp 44 nrkP ePsKs;s fk;gpia vLj;J tl;l tbtpy; tisj;jhs;. me;j tl;lj;jpd; 
Muj;ijf; fz;lwpaTk;. mjd; gug;gsit fhz;f. mNj fk;gpia rJu tbtpy; tisj;jhy;> 
mjd; xt;nthU gf;fKk; vt;tsT ePskhf ,Uf;Fk;? ve;j cUtk; mjpf gug;gsit 
cs;slf;fpaJ? 
 

5. Answer the following questions  
gpd;tUk; tpdhf;fSf;F tpilasp 
 
A. The area of a quadrilateral is 525 sq. m. The perpendiculars from two vertices to the 

diagonal are 15 m and 20 m. What is the length of this diagonal?                (5m) 
xU ehw;fuj;jpd; gug;gsT 525 r.kP. mjd; ,U cr;rpfspypUe;J %iytpl;lj;jpw;F 
tiuag;gLk; nrq;Fj;jpd; ePsq;fs; 15kP> 20kP vdpy; %iytpl;lj;jpd; ePsnkd;d? 
 

B. If each side of a square is increased by 50%. Find the percentage change in its area.        (5m) 
rJuj;jpd; midj;J gf;fq;fSk; 50% tPjj;jpy; mjpfkhdhy;> gug;gstpd; rjtPj khw;wj;ij 
fhz;f. 

      

gphpT – M 
SECTION – B 

Fwpg;G :  
i. xt;nthU tpdhtpw;Fk; 250 nrhw;fSf;F kpfhky; tpilaspf;fTk;.  

Answer not exceeding 250 words each. 
ii. xt;nthU tpdhtpw;Fk; gjpide;J kjpg;ngz;fs;  

Each question carries fifteen marks.  
iii. nfhLf;fg;gl;Ls;s Ie;J tpdhf;fspy; vitNaDk; ehd;F tpdhf;fSf;F kl;Lk; 

tpilaspf;fTk;.  
Answer any four questions out of five questions. 

     
(4 × 15 = 60)  

6. Answer the following questions  
gpd;tUk; tpdhf;fSf;F tpilasp 

 
A. If the area of the rhombus is 60 sq. cm and one of the diagonals is 8 cm, find the length of the 

other diagonal.                                                              (5m) 



 

3 | Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187  
 
 

xU rha;rJuj;jpd; gug;gsT 60 r.nr.kP kw;Wk; mjd; xU %iytpl;lk; 8 nr.kP. vdpy;> 
kw;nwhU %iytpl;lj;ijf; fhz;f. 

 
B. Find the area of a quadrilateral one of whose diagonals is 25 cm long and the lengths of 

perpendiculars from the other two vertices are 16.4 cm and 11.6 cm respectively.           (5m) 
xU ehw;fuj;jpd; %iytpl;lk; 25 nr.kP. vjph; cr;rpfspy; ,Ue;J %iytpl;lj;jpd; Nkyike;j 
nrq;Fj;jpd; ePsq;fs; 16.4 nr.kP> 11.6 nr.kP vdpy; ehw;fuj;jpd; gug;gsT ahJ? 

 
C. Find the perimeter of a sector whose radius and central angle are 18 cm and 2100 

respectively.                                                     (5m) 

Muk; 18 nr.kP kw;Wk; ikaf;Nfhzk; 210 vdf; nfhz;l tl;lf;Nfhzg;gFjpapd; Rw;wsitf; 
fhz;f. 

 
7. Answer the following questions  

gpd;tUk; tpdhf;fSf;F tpilasp 
 

A. A rectangular field is of dimension 20 m × 15 m. Two paths run parallel to the sides of the 
rectangle through the centre of the field. The width of the longer path is 2 m and that of the 
shorter path is 1 m. Find  
(i) the area of the paths  
(ii) the area of the remaining portion of the field  

(iii) the cost of constructing the roads at the rate of ₹ 10 per sq.m.                                   (9m) 
xU nrt;tf epyj;jpd; ghpkhzq;fs; 20 kP × 15 kP. mjd; ikak; topahfTk;> ,U 
gf;fq;fSf;F ,izahfTk; ,Uf;FkhW ,uz;L ghijfs; cs;sd. ePskhf cs;s 
ghijapd; mfyk; 2 kP kw;Wk; Fiwe;j ePsKs;s ghijapd; mfyk; 1 kP vdpy;> 
fPo;f;fz;ltw;iwf; fhz;f.  
(i) ghijfspd; gug;gsT  
(ii) epyj;jpd; kPjKs;s gFjpapd; gug;gsT  
(iii) xU r.kP-f;F &. 10 tPjk; ghijapy; rhiy mikf;f MFk; nkhj;jr; nryT 

 

B. The radius of the wheel of a vehicle is 42 cm. How many revolutions will it complete in a 
19.8-km-long journey?                                                                                                                 (6m) 
xU thfdj;jpd; rf;fuj;jpd; Muk; 42 nr.kP. 19.8 fpkP J}ug; gazj;jpy; vj;jid Rw;Wfis 
Rw;wp  Kbf;Fk;? 

 
8. Answer the following questions  

gpd;tUk; tpdhf;fSf;F tpilasp 
 

A. A park is in the shape of a circle of diameter 7m. It is surrounded by a path of width 0.7m. 
Find the expenditure of cementing the path at the rate of 110 per sq.m.        (7.5m) 
xU G+q;fh 7 kP tpl;lk; nfhz;l tl;l tbtpy; cs;sJ. ,J 0.7kP mfyk; nfhz;l 
ghijahy; #og;gl;Ls;sJ. xU rJu kPl;lUf;F 110 vd;w tPjj;jpy; rpnkd;l; nfhz;L 
ghijaikf;f MFk; nryitf; fhz;f. 
 

B. Four equal circles are described about four corners of a square so that each touches two of 
the others as shown in the Figure. Find the area of the shaded portion, each side of the 
square measuring 28 cm.                    (7.5m) 
gf;f msT 28 nr.kP msTs;s xU rJuj;jpd; ehd;F %iyfspypUe;J xt;nthU tl;lKk; 
kw;w ,uz;L tl;lq;fisj; njhLkhW ehd;F tl;lq;fs; glj;jpy; cs;sgb tiuag;gLfpd;wd 
vdpy; epoypl;l gFjpapd; gug;gsitf; fhz;f. 
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9. Answer the following questions  
gpd;tUk; tpdhf;fSf;F tpilasp 

 

A. The area of a rhombus is equal to the area of a triangle whose base and the corresponding 
altitude are 24.8 cm and 16.5 cm respectively. If one of the diagonals of the rhombus is 22 
cm, find the length of the other diagonal.            (7.5m) 
xU rha;rJuj;jpd; gug;gsT Kf;Nfhzj;jpd; gug;gsTf;F rkk;> Kf;Nfhzj;jpd; mbg;gFjp 
kw;Wk; cauk; KiwNa 24.8 nr.kP kw;Wk; 16.5 nr.kP. rha;rJuj;jpd; %iytpl;lq;fspy; xd;W 
22 nrkP Mf ,Ue;jhy;> kw;nwhU %iytpl;lj;jpd; ePsj;ijf; fz;lwpaTk;. 

 
B. Find the area of the shaded portions in the Figure, where ABCD is a square of side 14 cm 

14 nr.kP. gf;f msTila  ABCD vd;w rJuj;jpy;  glj;jpy; fhl;bAs;sgb epoypl;l gFjpapd; 
gug;gsit fhz;f.                 (7.5m) 

 
10. Answer the following questions  

gpd;tUk; tpdhf;fSf;F tpilasp 
 
A. A garden is made up of a rectangular portion and two semi circular regions on breadth 

sides. If the length and width of the rectangular portion are 16 m and 8 m respectively, 

calculate (   = 3.14)                     (m) 
(i) the perimeter of the garden  (ii) the total area of the garden 
xU nrt;tfj;jpd; mfyj;jpd; ,UGwKk; miutl;lk; ,ize;j tbtpy; xU Njhl;lk; 
mike;Js;sJ. me;jr; nrt;tfj;jpd; ePsk; kw;Wk; mfyk; KiwNa 16 kP kw;Wk; 8 kP vdpy;> 
gpd;tUtw;iwf; fzf;fpLf.  
i. Njhl;lj;jpd; Rw;wsT    ii. Njhl;lj;jpd; nkhj;jg; gug;gsT   

 

B. Find the area of the shaded portion in the following figure ( 3.14) =           (6m) 
glj;jpy; epoyplg;gl;l gFjpapd; gug;G fhz; ( ( 3.14) =   

 
 


